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IR D B IR R R E

A3 —2 BEYICHERTHIEEESNSEHRICEATHEIEN/1) REFE | RIS FSE
[ aEaEOnE | EmEE 751BN5021 [ B | BT [ i | P I N
) AR O T inICBEET 5L i 2ERA
ﬁg’g TREOBHOEILADKRES TREDOHBEBSILADKRES TREOBHOEILADKRES TREDHBESSLNDKRES
&5 X % .(ES —Fﬂﬁﬁﬁ‘(z)wﬂﬁgﬁ jj(ﬁﬁé)é K 4 —Fuﬁﬁéﬁg;ﬂz .?5 jj(gifn?)é X 4 .(ES J:uﬁﬁfJ\(z)O)J:tn% t(gifrf)é K 4 J:uﬁﬁ?b\(:)d)tt% .ﬁf; t(gifrf)é
; 100kN/mM#Z#BZ2%| 1.00 | 000 ~ 090| 11343 |3ImEBZB| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1055 ~ 1326| 113.43 |3mEREZD -~ — — —
Fh s 1.00] 090 ~ 868| 100.00| ThLls | 000 ~ 868|216 10.91 Fh s 1.00]5.00 ~ 1055 100.00 | TnLS | 5.00 ~ 1326 2.16 10.91
2 100kN/mM#Z#82%| 1.00 | 000 ~ 120 11812 |3mEBZB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 10.74 ~ 14.45| 11812 |3mEkEZD -~ — — —
Fh s 1.00| 120 ~ 898 100.00 | ThLls | 0.00 ~ 898 | 2.29 11.60 Fh s 1.00 | 5.00 ~ 1074 100.00 | Ths | 5,00 ~ 1445] 229 11.60
3 100kN/mM#Z#8Z2% | 1.00 | 000 ~ 1.05| 11576 |3m&EBZB| — ~ — — — | 100kN/mi%#BZ5% | 1.00 | 1096 ~ 1416 115.76 |3mEREZD -~ — — —
Fh s 1.00 | 1.05 ~ 883 100.00 | #hist | 000 ~ 885234 11.83 Fh s 1.00 | 5.00 ~ 1096 100.00 | TN | 5,00 ~ 1416 | 2.54 11.83
4 100kN/mM#Z#82% | 1.00 | 000 ~ 1.16| 117564 |3mEBZB| — ~ — — — | 100kN/mM% 825 | 1.00 | 1063 ~ 1419| 117.64 |3mEREZD -~ — — —
Fh s 1.00| 116 ~ 895| 100.00 | ThLls | 000 ~ 895|226 11.43 Fh s 1.00]5.00 ~ 1063 100.00 | TnLS | 5.00 ~ 1419 | 2.26 11.43
5 100kN/mM%#B% % — -~ - —|3mZzEEZB| — ~ — — — | 100kN/mM%#8 %3 — - ~ — —|3mZEBZ B - ~ — — —
Fh s 1.00 | 0.00 ~ 579 72.42 | #hst | 000 ~ 579|299 15.09 Fh s 1.00 | .00 ~ 1348 72.42 | #hRS | 5,00 ~ 1348] 2.99 15.09
P 100kN/mM%#B% % — -~ = —|3mZzEZB| — ~ — — — | 100kN/mM%# %3 — - ~ — —|3mZEBZ 5 - ~ — — —
Fh s 1.00 | 000 ~ 578 7223 | =nLS 000 ~ 578|296 14.97 Fh s 1.00 | .00 ~ 1295 72.23 | #hLS | 5,00 ~ 1295| 2.96 14.97
- 100kN/m#%#BZ.% — -~ = —|3mZE#BZB| 000 ~ 0.08] 3.07 15.53 | 100kN/mM##B% % — - ~ — — |3mZEEBRB| 1500 ~ 1650| 3.07 15.53
s 1.00 | 0.00 ~ 7.38 94.09 | =hs | 008 ~ 7.38| 3.00 156.16 znLs 1.00 | 5.00 ~ 16.50 94.09 | =nLS | 5,00 ~ 1500 3.00 15.16
g 100kN/mM%#82% | 1.00 | 0.00 ~ 151 123.05 |3mZzBRB| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 11.18 ~ 1630 123.05 |3mEREZD -~ — — —
Fh s 1.00 | 1.61 ~ 9.30 100.00 | #ns | 000 ~ 930|258 13.06 Fh s 1.00|5.00 ~ 1118 100.00 | TnLS | 5.00 ~ 1630 | 2.568 13.05
9 100kN/m#Z#82% | 1.00 | 000 ~ 126 11910 |3mEBZB| — ~ — — — | 100kN/m%#BZ5% | 1.00 | 11.10 ~ 1610| 119.10 |3mEREZD -~ — — —
Fh s 1.00| 126 ~ 9.05| 100.00| FThis | 000 ~ 905|221 11.18 Fh s 1.00|5.00 ~ 1110 100.00 | ThLS | 5.00 ~ 1610|221 11.18
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
Zh s ~ Zh s ~ Zh s ~ ZhLsh ~
100kN/mM%#E% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLs ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLs ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZD ~
ZNLs ~ ZThLs ~ ZnLs ~ ZThLs ~
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